
Unit 3 Week 6 Maths 

Tuesday Simmering 

Choose one section for your simmering then one section for your main activity. 

If you fancy a challenge do try the next level 

* ** *** 
  

 



LO: To solve problems  

( send your answers to info@broadfield.oldham.sch.uk) 

 

Challenge…       



Challenge 1.. * LO To solve problems. 

Budget (30 Debens) 

Item What have you 

chosen? 

Price 

 (in Debens) 

Food   

Food   

Food   

Drink   

Drink   

Entertainment   

Entertainment   

 

 

  

 



Challenge 2.. ** LO To solve problems. 

Budget (40 Debens) 

Item What have you 

chosen? 

Price 

 (in Debens) 

Food   

Food   

Food   

Drink   

Drink   

Entertainment   

Entertainment   

Musicians (at least one)   

Dancers (at least one)   

Perfume Cones   

Decoration  

(don’t have to have) 

  

TOTAL   

 

 



Challenge 3 *** LO To solve problems. 

  

  



Pick one… I want to:   

• be a great entertainer 

• incredibly powerful 

• serve best food and drink 

• an all rounder (concentrate on all three) 

Item What  Price Add up your points 

 Chosen? (in Debens) Entertainment Power Food and Drink 

Food      

Food      

Food      

Drink      

Drink      

Entertainment      

Entertainment      

Musicians (at least one)      

Dancers (at least one)      

Perfume Cones      

Decoration  

(don’t have to have) 

     

TOTAL      

 

Which one are you? Add up the points to find out… 

 



Answers 

 

* ** *** 
  

 

 

8 91p 9 

30 

317 

£3.24 

 6 

10 

375 

2 156 magic l next to Th column. 

 

2 000 (1 – below 5 is next to th 

so don’t change 2 th to 3th 

Count the squares  

Is 8cm2 

What factor is in 

both the 

numerator and 

denominator? 6 

So ÷ both by 6 

 6 = 1 

30   5 

1 0 . 8 8 

   4 . 5 6 

   1 . 9 0  

 1 7 . 3 4 

    2   1 

157 

  90 (the right angle ) 

247 

1 

360 (angles in full circle) – 247 – 

127 

306 x 2 = 612 

612 ÷ 9 = 68 

Use inverse 

Mean = average 

To work out add them 

altogether and divide 

by how many 

numbers there are 

14+12+18+19+17=80 

80 ÷ 5 = 16  


